Examen Business Analysis - Januari 2020

Multiple choice
e UML class diagram: which one is not correct?
e aUML use case facilitates the interaction between stakeholders and
information systems
e UML class diagram includes mappings of use cases
o UML is syntactically always correct because of the specific rules
¢ UML makes a distinction between primary and secondary actors
o Elicitation techniques: Which one is not a disadvantage of the specific technique
e Low participation in fixed format questionnaires
e social loafing in an interview
o During Card sorting only expert vocabulary is being elicited
e Process mining and observation have the same level of objectivity.
e Declare relationship herkennen vanuit een model
e statements over procedural process modeling
 model aanduiden dat hoorde bij een bepaalde declare relationship (succession dacht
ik?)
e incremental SDLC (dis)advantages

Open Questions
o Declarative process modeling advantages and challenges
e Advantages of transition from declarative to procedural
e Succession (A,B): Welke van de volgende sequences kunnen wel en welke niet
(waarom?)




